Linearized knot diagam

Solving Sequence

37— 4—>59 —1 2 6 8 C1,Cs5,C7
C3 Cq Cg C2 Ce Cs

A knot diagra

Ideals for irreducible component#ﬂ)f Xpar

I = (523552400u° — 519151600u>® + - - - + 6282411349 — 519170884,
— 571526124u2° + 47533644u%® + - - - + 62824113494 + 20413019584, u®° — u?® + ... — 3u+ 1)

* 1 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
5.19 X 108u2® 4 ... +6.28 x 10°b — 5.19 x 108, —5.72 X

I = (5.24 x 10%u?° —
u?®+...—3u+1)

1084 +4.75 X 107u?8 + . . .4+ 6.28 X 10%a +2.04 X 1010, 430

(i) Arc colorings

()

az =
0
a7 = U
1
a4 = u
u2
a5 =
0. 0909724u29 —0.00756615u2® + -
ag =\ —0.0833362u2° + 0.0826357u28 + -
0.816944u2° — 0.800274u28 + -
a1 = \ —0.816587u2° + 0.821929428 + .
—0.830556u2° — 0.00273693u28 + - - -
az = 0.833293u2° — 0.830507u28 + - - -
ae = (u Jru)
0.732222u29 — 0.798905u28 + -
ag = \ —0.733373u?® + 0.728883u2® + -
0.732222429 — 0.798905u28 + - - -
ag = \ —0.733373u° + 0.728883u?® + - - -
(ii) Obstruction class = —1

_ 19978037336 29 4 14950008300 28 R 24593576724

-+ 2.67520u — 3.24923
-+ 1.59305u + 0.0826388

-+ 4.33394u — 3.18861
-+ 1.76785u + 0.0219457

—3.66064u + 0.113929
+ 2.37774u — 0.830556

-+ 2.66425u — 3.24557
-+ 2.69552u — 0.0711119

+ 2.66425u — 3.24557
+ 2.69552u — 0.0711119

28775538078

(iii) Cusp Shapes =

6282411349 6

282411349 6282411349 6282411349



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 WO — P+ —Bu+1
Co S LRI IO |
cs,Ce u? w4+ 3utl
Ca w130+ 4 3u+1
Ccs S LT - IO |
s w3 —3u? 4. —9u+1
Co u —u? 4+ 1w+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

€1, C7 v —19y* + ... — By + 1
Co v 3y 4 By

€35 Co ¥ +13y* + -+ 3y +1
€4 O+ 9y* + - 4+ 39y + 1
Ccs v 5y 43y 41

cs v 27y 4 1y + 1
Co v — 23y 4. 9y +1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.907923 + 0.4265681
—1.169900 + 0.7645291
1.065260 — 0.8547231

—0.60287 — 7.559631

1.09191 + 4.944931

0.907923 — 0.4265681
—1.169900 — 0.7645291
1.065260 + 0.8547231

—0.60287 + 7.559631

1.09191 — 4.944931

0.365761 + 0.9798761
—1.59795 + 1.332701
1.43354 + 0.579461

—4.52085 + 1.198411

—7.97414 — 1.506461

0.365761 — 0.9798761
—1.59795 — 1.332701
1.43354 — 0.579461

—4.52085 — 1.198411

—7.97414 4 1.506461

= —0.485323 + 0.9282631
1.61933 — 1.815891
—0.365965 — 0.3315611

—1.86283 — 2.419951

7.1505 — 13.44411

—0.485323 — 0.9282631
= 1.61933 + 1.815891
—0.365965 + 0.3315611

—1.86283 + 2.419951

7.1505 + 13.44411

0.702308 + 0.5432881
1.12249 — 1.091311
—1.170130 + 0.7575801

2.66519 — 2.128881

4.79788 + 2.274501

0.702308 — 0.5432881
1.12249 + 1.091311
—1.170130 — 0.7575801

2.66519 + 2.128881

4.79788 — 2.274501

—0.630570 + 0.9203141
= —1.078230 — 0.4845811
0.527369 — 0.2559591

0.59733 — 2.560451

2.74559 4 1.692031

—0.630570 — 0.9203141
= —1.078230 + 0.4845811
= 0.527369 + 0.2559591

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &
Il

0.59733 4 2.560451

2.74559 — 1.692031




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.419790 + 0.7656081
= —0.38715 + 1.979071
—0.071716 + 0.5657671

—1.28380 — 1.431431

—4.72992 + 7.909201

—0.419790 — 0.7656081
= —0.38715 — 1.979071
—0.071716 — 0.5657671

—1.28380 + 1.431431

—4.72992 — 7.909201

0.488147 + 1.0199901
= 0.469424 + 0.7795631
0.91649 — 1.426671

—3.68107 + 4.909891

—5.62064 — 7.636581

0.488147 — 1.0199901
= 0.469424 — 0.7795631
0.91649 + 1.426671

—3.68107 — 4.909891

—5.62064 + 7.636581

—0.874083 + 0.7299531
= —0.810701 — 0.0432391
0.692011 — 0.1631631

0.99971 — 3.021821

5.70717 + 7.159651

—0.874083 — 0.7299531
—0.810701 + 0.0432391
0.692011 4 0.1631631

0.99971 + 3.021821

5.70717 — 7.159651

0.104954 + 0.8465871
—1.013570 + 0.508000.1
—0.214087 + 1.0562501

—1.84656 — 1.461721

—3.40911 + 4.126451

0.104954 — 0.8465871
—1.013570 — 0.5080001
—0.214087 — 1.0562501

—1.84656 + 1.461721

—3.40911 — 4.126451

0.606261 + 1.0346901
1.77136 — 0.839611
—1.26265 — 1.092901

1.20556 + 7.174701

1.40394 — 7.734821

0.606261 — 1.0346901
= 1.77136 4+ 0.839611
= —1.26265 + 1.092901

1.20556 — 7.174701

1.40394 + 7.734821




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.739608 + 0.1938991
0.491712 — 0.1405371
b= —0.711939 + 0.0295521

a =

1.50909 — 0.095831

7.75398 — 0.816601

u = —0.739608 — 0.1938991
0.491712 + 0.1405371
b= —0.711939 — 0.0295521

a =

1.50909 + 0.095831

7.75398 4- 0.816601

0.066161 + 1.2877201
= 0.153531 — 0.1977901
= 0.644560 — 0.9052391

S
|

—6.75726 — 4.699081

—5.55546 + 4.958561

= 0.066161 — 1.2877201
= 0.153531 + 0.1977901
0.644560 + 0.9052391

—6.75726 + 4.699081

—5.55546 — 4.958561

0.651249 + 1.1426801
—1.59583 + 0.805181
1.15164 + 1.027751

—2.77714 4 13.280501

—1.34939 — 8.377141

0.651249 — 1.1426801
= —1.59583 — 0.805181
= 1.15164 — 1.027751

—2.77714 — 13.280507

—1.34939 + 8.377141

= 0.528417 + 0.4844231
= —0.632962 + 0.4561611

—1.48004 — 5.186781

—0.12994 + 9.325071

= —0.611458 — 1.2087701
= 0.528417 — 0.4844231
= —0.632962 — 0.4561611

—1.48004 + 5.186781

—0.12994 — 9.325071

= 0.368067 + 0.266876.1
= —2.50293 — 0.018481
= 0.498568 4 0.8604761

—1.90369 — 1.106991

—1.88237 + 2.021231

= 0.368067 — 0.2668761
= —2.50293 + 0.018481

a
b
u
a
b
u
a
b
u
a
b
u = —0.611458 + 1.2087701
a
b
u
a
b
u
a
b
u
a
b= 0.498568 — 0.8604761

—1.90369 + 1.106991

—1.88237 — 2.021231




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1, C7 ' —u? 4~ Bu+ 1
€2 ' + 50+t ut 1
€3, Co w4 o 3u 1
€4 u? +13u* + -+ 3u+ 1
Cs B LI A |
8 u?® —3u* 4+ —u+1
co ¥ — 4 1l




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

C1,C7 Y20 —19y*° + .. — 5y +1
o v — 352 4 By 41

€3,C6 O 13y 3y 1
€4 v+ 9y* + 439y +1
Cs v 15y 4. 43y +1

cs v 27y 1 f 11y + 1
Co Y0 —23y* + . —9y+1




